AR HXARSHREAERR -ERGAD)

(B 4 Sv/h)

BEE | AERRM By [ PR | o |l
AG N HERAT A=K 0.04 0.04 0.04 5A138 15:40
Fri# FESER  |FEOREEBK2) 005 0.05 0.06 5898 9:50
BAA BAE AR AR BAARK 0.05 0.05 0.05 58128 10:00

{HRT R {ENFRT R sk 1HIRR R Bx 0.03 0.03 0.03 5A5H 10:00
= 1 R HH SR AT =R 0.04 0.03 0.03 58108 11:00
K& R&HRAT K&K 0.02 0.03 0.03 5858 11:00
= i = HERFT [Eapsd:ulS 0.04 0.04 0.04 58128 10:00
=T E1THERFT E1TH 0.04 0.04 0.04 58118 | 10.00

HE KR 78 &0 HH R A g3 0.03 0.03 0.03 5A8H 9:30

Hma ALiEBAE b BARK 0.05 0.05 0.04 5A7H 9:30
R HRIB SR ERIBKHMBIBL 003 0.03 0.04 5898 9:35
&R ZRHT AR ZARHTX 0.05 0.05 0.04 58128 10:00
48 4 Ff SR P A4 REI BR 0.04 0.05 0.05 5A128 10:20




AAE HXARSHREAERR -ERBAD)

(B 4 Sv/h)

BEB | ARG By [ PR | o |l
A% AR RAT NEFK 0.03 0.03 0.03 8H6H 10:45
Fi# Fi#SERT  |FERRIRMERK2) 005 0.06 0.05 8H21H 9:30
BRA BA’A kAR BB IR 0.07 0.07 0.06 8A8H 9:50

HAr R {EN 7l 5 H 3R PR fEn A BB 0.03 0.03 0.02 8A5H 13:00
ey i i L AR AT i BB 0.03 0.03 0.03 8A5H 9:00
R#& REHRA RH®EK 0.03 0.03 0.02 8H4H 11:00
At i = AR AT FRBN R 0.05 0.05 0.04 8A10A 9:30
=T E1THRAT =T 0.03 0.04 0.04 8H18H 9:30

AR K RE 75 & aR AT i1 3 0.03 0.04 0.04 8H20R 9:35

HrEa LiEAE el d:u]i3 0.05 0.04 0.05 8H23H 9:30
®iA ERIBH AR ERIBKHMBIBL| 004 0.04 0.03 8A218 | 10:15
&R ZRHT HSRFT ZARHT xR 0.04 0.04 0.03 8A13H | 1340
1 fil 4 f) HH SR P 4 RE) % 0.05 0.05 0.05 8A13H 9:40




AR MXABSREAERR-ER(1AD)

(B 4 Sv/h)

BEE | AERRM By [ PR | o |l
RE REHRAT AT 0.05 0.05 005 | 118108 | 13:00
Fri# FESER  |FEOREEBK2) 005 0.07 006 | 118128 | 15:00
BAA BAE AR AR BB 0.08 0.07 0.06 11A198 | 18:10

{HRT R {ENFRT R sk 1HIRR R Bx 0.03 0.04 0.03 11A138 | 15:00
= 1 R HH SR AT =R 0.03 0.04 0.04 118108 | 9:05
K& R&HRAT K&K 0.03 0.04 003 | 11A138 | 1545
= i = HERFT [Eapsd:ulS 0.04 0.03 0.03 118198 | 16:00
=T E1THERFT E1TH 0.04 0.04 004 | 118138 | 1400

HE KR 78 &0 HH R A i1 3 0.03 0.03 0.04 11A5H8 10:30

Hma ALiEBAE b BARK 0.05 0.04 0.05 11A8H 10:00
R HRIB AR ERIBKHMBIBL 003 0.04 0.04 118128 | 14:00
&R ZRHT AR ZRHTBX 0.04 0.04 0.05 118108 | 11:20
48 4 Ff SR P A4 REI BR 0.04 0.04 0.04 118108 | 16:30




AR HXARSHREAERR -ERCAD)

(B 4 Sv/h)

BEE | AERRM By [ PR | o |l
AG N HERAT A=K 0.04 0.04 0.04 2A3H 13:00
Fri# FESER  |FEOREEBK2) 005 0.06 0.07 2A168 | 10:20
BAA BAE AR AR BAARK 0.07 0.07 0.07 2A138 10:30

{HRT R {ENFRT R sk 1HIRR R Bx 0.03 0.03 0.03 2A6H 13:30
= 1 R HH SR AT =R 0.03 0.03 0.03 2A3H 10:20
K& R&HRAT K&K 0.03 0.03 0.03 2A5A8 10:15
= i = HERFT [Eapsd:ulS 0.04 0.03 0.03 2A6H 11:00
=17 E1THERFT E1TBX 0.04 0.04 0.04 2A9A 9:45

HE KR 78 &0 HH R A g3 0.05 0.04 0.04 2A118 13:30

Hma ALiEBAE b BARK 0.05 0.05 0.05 2A7H 9:00
R HRIB SR ERIAKHMBIB| 004 0.03 0.03 2A16H 10:50
iR ZRHT AR ZARHTX 0.05 0.04 0.04 2A8H 10:00
48 4 Ff SR P A4 REI BR 0.05 0.04 0.04 2A8AH 13:30




